= z
Mm7 FE

TH7 EEAMNBARBERENEBERTHEIES

S5 B S

EE B EREHE

8 B Z=BBHEEXRE
=1 B Z=BBREEXRE
BEoMa REHRHE
BRE®S 18-01-25-002



BEANRE SHTEEAMB A EBRENT BRI REER

£ [ G - AR Bify #H = B @ £ # wE

EER{E 146, 890, 771

HIEWBER 146, 890, 771

HIEWBER 146, 890, 771

EEAGE 145,188, 120

FEERENEHER EREXBEREIS) 115, 814, 660

1 FHERNERMER [EE#] QTEZET) 2.00 1,084, 140 2,168, 280
I=x

2 TEEIRREHIER [1Z#] Q3~4IF#EZET) 9.00 1,354, 460 12,190, 140
I=x

3 FEEIRREHIER [1Z#]) 6~TIFEZET) 2.00 1,633, 340 3, 266, 680
I=x

4 TEEIRREHIERK [Z#] B8~11IT#EFET) 14.00 1,956, 560 21,391, 840
I=x

5 FEEIRREHIERK [{Z#] (12TF@uL) 10.00 2,173,980 21,739, 800
I=x

6 BEIRNERER [#E] QTEET) 1.00 866, 720 866, 720
I=x

7 BREIRNE RBER [#841] 3~4IFEET) 2.00 1,084,140 2,168, 280
I=x

8 FEERMERMER [#B41) B~11TFEET) 4.00 1,567,160 6, 268, 640
I=x

9 BREIRNERER [#541)] (12TFELLIE) 1.00 1,742,980 1,742,980
I=x

10 FEERRE HIER [£%] B~4IiEFET) 5.00 506, 200 2,531,000
I=x

11 BHERUERER [£F] G~T1IEZET) 8.00 606, 300 4, 850, 400
I=x

12 FEEREHIER [Z%E] B~11IT#EFET) 30.00 725, 280 21,758, 400
I=x

13 FEEREHIER [Z£=] (12TF@UL) 11.00 806, 500 8,871,500
I=x




BEANRE SHTEEAMB A EBRENT BRI REER

4 [} IR - WAKTiE B B = B {f & £ =

BEAN BEXBREZFLS) 24, 450, 460

14 EEAN (iZ#] @IE£T) 2.00 234, 080 468, 160
Is

15 BEAA [#F#] G~4IEFT) 9.00 293, 780 2, 644, 020
Is

16 EEAS [iZ#] G~TIEET) 2.00 353, 480 706, 960
Is

17 EEAN [iZ#] B~11TEET) 14.00 421,740 5,904, 360
Is

18 BEEASN [Z#] (12T#LL) 10. 00 468, 160 4, 681, 600
Is

19 BEAA [#B41) QI#EET) 1.00 187, 660 187, 660
Is

20 EEAA [#841] 3~4IFEET) 2.00 234, 080 468, 160
Is

21 BEEAA [#B41) B~11TFEET) 4.00 335, 480 1,341,920
Is

22 BEEAA [#841)] (12TFELLE) 1.00 371, 480 371, 480
Is

23 BEAA [£E] B~4THEET) 5.00 104, 140 520, 700
Is

24 BEAH [£E] G~T1T#EET) 8.00 123,020 984, 160
Is

25 BEAR [£E] @~11T#EET) 30. 00 146, 720 4, 401, 600
Is

26 BEEAH [£E] (12T/LL) 11.00 160, 880 1,769, 680
Is

T&E 4,722,300

27 T8¢ 99. 00 47,700 4,722,300
&l

hiE - |E 200, 700

28 & - e EFE, PEEE. ERTTHE 1.00 200, 700 200, 700
E=




BEANRE SHTEEAMB A EBRENT BRI REER

% R R - RARSTiE BfL % 8 B ® # m o=

E#EEE 1,702, 651
EHRARE 1,402, 651
29 EHAMRE 1.00 1,402, 651 1,402, 651

=
S 300, 000
30 XBRERE 1.00 300, 000 300, 000

=




WiEE FHTEEAM A EBRERENZERTIHMES

% g R - KSR Bifr B 2 B i & B W =
B R 145,188,120 + 1,702, 651 146, 890, 771
EEAGE 145,188, 120
BE#RE 1,702, 651
T DR 145,188,120 x 53.85% ( 35% = (1 — 35% ) ) 78, 183, 802
RHRIE 146,890, 771 + 78,183, 802 225,074, 573
—REEES 225,074,573 x 53.85% ( 35% = (1 — 35%) ) — 7,230 121,195, 427
e T 225,074,573 + 121,195, 427 346, 270, 000
HETREALE 346,270,000 x 10.00% 34,627, 000
EBEREN 346,270,000 + 34,627, 000 380, 897, 000




BfR-BEI/ \vr—>

= .

FHTEEAMBAEFERENEERIMEBRSE

H .
&% BERRERMER [E%E] QIEET) 1TELY
2 b g - BIRTE By = B ® # " =
AR (A)
A 1.50 57,000. 00 85, 500
HER (B)
A 20.10 47, 200. 00 948, 720
AR (C)
A 1.30 38, 400. 00 49, 920
& Hi 1E%HEH :1.00TE 1,084, 140. 00 1,084, 140
T EE L
FHE—REWE : TL
&5 .2
&% BERRERMER [1E%] G~4IFEFET) 1TELY
2 b g - BIRTE By = B ® # " =
AR (A)
A 1.90 57, 000. 00 108, 300
HER (B)
A 25.10 47, 200. 00 1,184, 720
AR (C)
A 1.60 38, 400. 00 61,440
& Hi 1E%HEH - 1.00TE 1, 354, 460. 00 1, 354, 460
T EE L
FHE—REMWE : TL
5.3
£F  BERRERMER [1E%] G~TIFEET) 1TELY
2 b g - BIRTE By = B ® # " =
AR (A)
A 2.30 57, 000. 00 131, 100
HER (B)
A 30. 20 47, 200. 00 1,425, 440
AR (C)
A 2.00 38, 400. 00 76, 800
& Hi 1E%HEH :1.00TE 1, 633, 340. 00 1,633, 340

FEEMESNEE L
FH—IEWE Tl




BfR-BEI/ \vr—>

FHTEEAMBAEFERENEERIMEBRSE

5 :4
&% BERWERMER [1Z#] B~11IHEFT) 1TELY
2 b g - BIRTE By = B 4 ) # " =
AR (A)
A 2.80 57,000. 00 159, 600
HER (B)
A 36. 20 47, 200. 00 1,708, 640
AR (C)
A 2.30 38, 400. 00 88, 320
& Hi 1E%HEH :1.00TE 1, 956, 560. 00 1,956, 560
T EE L
FHE—REWE : TL
F5 .5
2% BMERRERMER [1E%#] (2TiELL) 1TELY
2 b g - BIRTE By = B 4 ) # " =
AR (A)
A 3.10 57, 000. 00 176, 700
HER (B)
A 40. 20 47, 200. 00 1,897, 440
AR (C)
A 2.60 38, 400. 00 99, 840
& Hi 1E%HEH - 1.00TE 2,173, 980. 00 2,173,980
T EE L
FHE—REMWE : TL
ES .6
&% BERRERMER [FEU] QIEET) 1TELY
2 b g - BIRTE By = B 4 ) # " =
AR (A)
A 1.20 57, 000. 00 68, 400
HER (B)
A 16.10 47, 200. 00 759, 920
AR (C)
A 1.00 38, 400. 00 38, 400
& Hi 1E%HEH :1.00TE 866, 720. 00 866, 720

FEEMESNEE L
FH—IEWE Tl




BfR-BEI/ \vr—>

FHTEEAMBAEFERENEERIMEBRSE

=17
&% BERRERMER [$EL] G~4TFEET) 1TELY
2 b g - BIRTE By = B 4 ] # " =
AR (A)
A 1.50 57,000. 00 85, 500
HER (B)
A 20.10 47, 200. 00 948, 720
AR (C)
A 1.30 38, 400. 00 49, 920
& Hi 1E%HEH :1.00TE 1,084, 140. 00 1,084, 140
T EE L
FHE—REWE : TL
5.8
&% BERRERMER [$EL] @~11IFEFET) 1TELY
2 b g - BIRTE By = B 4 ] # " =
AR (A)
A 2.20 57, 000. 00 125, 400
HER (B)
A 29.00 47, 200. 00 1, 368, 800
AR (C)
A 1.90 38, 400. 00 72,960
& Hi 1E%HEH - 1.00TE 1,567, 160. 00 1,567, 160
T EE L
FHE—REMWE : TL
5.9
2% BMERRERMER [FEM] (2TiERL) 1TELY
2 b g - BIRTE By = B 4 ] # " =
AR (A)
A 2.50 57, 000. 00 142, 500
HER (B)
A 32.20 47, 200. 00 1,519, 840
AR (C)
A 2.10 38, 400. 00 80, 640
& Hi 1E%HEH :1.00TE 1,742, 980. 00 1,742, 980

FEEMESNEE L
FH—IEWE Tl




BfR-BEI/ \vr—>

FHTEEAMBAEFERENEERIMEBRSE

&5 :10
&% BERRERMER [£EF] G~4IFEET) 1TELY
2 b g - BIRTE By = BHO(f ® # " =
AR (A)
A 0.60 57,000. 00 34,200
HER (B)
A 10. 00 47, 200. 00 472, 000
& Hi 1E%HEH :1.00TE 506, 200. 00 506, 200
T EE L
FHE—REWE : TL
&5 11
&% BERRERMER [£EF] G~TILEET) 1TELY
2 b g - BIRTE By = BHO(f ® # " =
AR (A)
A 0.70 57, 000. 00 39, 900
HER (B)
A 12.00 47, 200. 00 566, 400
& Hi 1E%HEH - 1.00TE 606, 300. 00 606, 300
FIEEEMIEE L
FHE—REMWE : TL
&5 .12
&% BERWERMER [£EFE] @~11IHEFET) 1TELY
2 b g - BIRTE By = BHoO(f ® # " =
AR (A)
A 0.80 57, 000. 00 45, 600
HER (B)
A 14. 40 47, 200. 00 679, 680
& Hi 1E%HEH :1.00TE 725, 280. 00 725, 280

FEEMSNEE L
FHE—IEWE  TL




BfR-BEI/ \vr—>

FHTEEAMBAEFERENEERIMEBRSE

&5 .13
2% BMERRERMER [EF] (12T7ELL) 1TELY
2 b g - BIRTE By = BHO(f ® # " =
AR (A)
A 0.90 57,000. 00 51,300
HER (B)
A 16. 00 47, 200. 00 755, 200
& Hi 1E%HEH :1.00TE 806, 500. 00 806, 500
T EE L
FHE—REWE : TL
&S 14
&% BEAN [E#] QIEET) 1TELY
2 b g - BIRTE By = BHO(f ® # " =
AR (A)
A 0. 40 57, 000. 00 22,800
HER (B)
A 3.50 47, 200. 00 165, 200
AR (C)
A 1.20 38, 400. 00 46, 080
& Hi 1E%HEH - 1.00TE 234, 080. 00 234, 080
FIEEEMIEE L
FHE—REMWE : TL
&5 .15
2% BEAN  [E£E] Q~4THEFET) 1TELY
2 b g - BIRTE By = BHoO(f ® # " =
AR (A)
A 0.50 57, 000. 00 28, 500
HER (B)
A 4. 40 47, 200. 00 207, 680
AR (C)
A 1.50 38, 400. 00 57, 600
& Hi 1E%HEH :1.00TE 293, 780. 00 293, 780

FEEMSNEE L
FHE—IEWHE  TL




Bffik-fEI/\vr—>

FHTEEAMBAEFERENEERIMEBRSE

&5 :16
&% BEAN  [E££] G~TIHEFET) 1TELY
2 b g - BIRTE By = B ® # " =
AR (A)
A 0.60 57,000. 00 34,200
HEm (B)
A 5.30 47, 200. 00 250, 160
AR (C)
A 1.80 38, 400. 00 69,120
& Hi YEZEREN - 1.00E 353, 480. 00 353, 480
T EE L
FHE—IEWHE  TL
&5 .11
2% BEAN  [ZE£] B~11IEET) 1TELY
2 b g - BIRTE By = B ® # " =
AR (A)
A 0.70 57, 000. 00 39, 900
HEm (B)
A 6. 30 47, 200. 00 297, 360
AR (C)
A 2.20 38, 400. 00 84, 480
& Hi YEZEREDN - 1.00E 421, 740. 00 421, 740
T EE L
FHE—IEWHE  TL
&5 :18
&% BEAN  [E#] (21FLL) 1IEHY
2 b g - BIRTE By = B ® # " =
AR (A)
A 0.80 57, 000. 00 45, 600
HEm (B)
A 7.00 47, 200. 00 330, 400
AR (C)
A 2. 40 38, 400. 00 92,160
& Hi YE¥EREN : 1.00E 468, 160. 00 468, 160

FHERESMEE 2L
FHE—IEWHE - BL




Bffik-fEI/\vr—>

FHTEEAMBAEFERENEERIMEBRSE

&5 :19
&% BEEASL  [FR] QIFEET) 1TELY
2 b g - BIRTE By = B ® W = " =
AR (A)
A 0.30 57,000. 00 17,100
HEm (B)
A 2.80 47, 200. 00 132, 160
AR (C)
A 1.00 38, 400. 00 38, 400
& Hi YEZEREN - 1.00E 187, 660. 00 187, 660
T EE L
FHE—IEWHE  TL
&5 :20
2% BEAN  [84] G~4TFEFET) 1TELY
2 b g - BIRTE By = B ® W E " =
AR (A)
A 0. 40 57, 000. 00 22,800
HEm (B)
A 3.50 47, 200. 00 165, 200
AR (C)
A 1.20 38, 400. 00 46, 080
& Hi YEZEREDN - 1.00E 234, 080. 00 234, 080
T EE L
FHE—IEWHE  TL
&5 : 21
2% BEANL  [FR] B~11IEET) 1TELY
2 b g - BIRTE By = B ® W E " =
AR (A)
A 0. 60 57, 000. 00 34, 200
HEm (B)
A 5.00 47, 200. 00 236, 000
AR (C)
A 1.70 38, 400. 00 65, 280
& Hi YE¥EREN : 1.00E 335, 480. 00 335, 480

FHERESMEE 2L
FHE—IEWHE - BL




Bffik-fEI/\vr—>

FHTEEAMBAEFERENEERIMEBRSE

&5 :22
&% BEAN  [FEM] 2xiEut) 1TEHY
2 b g - BIRTE By = B ® W = " =
AR (A)
A 0.60 57,000. 00 34,200
HEm (B)
A 5. 60 47, 200. 00 264, 320
AR (C)
A 1.90 38, 400. 00 72,960
& Hi YEZEREN - 1.00E 371, 480. 00 371,480
T EE L
FHE—IEWHE  TL
&5 :23
2% BEANL [EE] B~4TFEFET) 1TELY
2 b g - BIRTE By = B ® W E " =
AR (A)
A 0.30 57, 000. 00 17,100
HEm (B)
A 1.60 47, 200. 00 75, 520
AR (C)
A 0.30 38, 400. 00 11, 520
& Hi YEZEREDN - 1.00E 104, 140. 00 104, 140
T EE L
FHE—IEWHE  TL
E5:24
2% BEAN [EE] G~TIHEET) 1TELY
2 b g - BIRTE By = B ® W E " =
AR (A)
A 0.30 57, 000. 00 17,100
HEm (B)
A 2.00 47, 200. 00 94, 400
AR (C)
A 0.30 38, 400. 00 11, 520
& Hi YE¥EREN : 1.00E 123, 020. 00 123, 020

FHERESMEE 2L
FHE—IEWHE - BL




Bffik-fEI/\vr—>

FHTEEAMBAEFERENEERIMEBRSE

&5 .2
2% BEANL [£E] B~11IEET) 1TELY
2 b g - BIRTE By = B O ® # " =
AR (A)
A 0. 40 57,000. 00 22,800
e (B)
A 2.30 47, 200. 00 108, 560
AR (C)
A 0. 40 38, 400. 00 15, 360
& Hi YEZEREN - 1.00E 146, 720. 00 146, 720
T EE L
FHE—IEWHE  TL
&S .26
2% BEAN [ZEFE] (1218LL) 1TEHY
2 b g - BIRTE By = B O ® # " =
AR (A)
A 0. 40 57, 000. 00 22,800
e (B)
A 2.60 47, 200. 00 122,720
AR (C)
A 0. 40 38, 400. 00 15, 360
& Hi YEZEREDN - 1.00E 160, 880. 00 160, 880
T EE L
FHE—IEWHE  TL
&5 .27
&% TAEE HEED)
2 b g - BIRTE By = B Ol ® # " =
AR (A)
A 0.50 57, 000. 00 28, 500
AR (C)
A 0.50 38, 400. 00 19, 200
& Hi 1YEZHEH - 1.00[E 47,700. 00 47,700

FIHERESMEE 2 L
FHE—IEMHE - BL




B@R-EI/\vr—> SHTEEAMN S BHERENE BRI HEER

&5 .28
£ HEE - mE EFH. DR EBETH 1LY
2 b g - BIRTE BT o = BHO(f ® W = " =
AR (A)
A 1.50 57,000. 00 85, 500
AR (C)
A 3.00 38, 400. 00 115, 200
& Hi 1YE%HeH - 1.00K 200, 700. 00 200, 700
T EE L
FHE—REWE : TL
E5:29
2% EHARE 1LY
2 b g - BIRTE BT H = BHO(f ® W E " =
EXERARE
= 1.00 1,402, 651. 00 1,402, 651
& Hi 1E%HeH - 1.00K 1,402, 651. 00 1,402, 651
FIEEEMIEE L
FHE—REMWE : TL
&5 :30
2% EBHRERE 1LY
2 b g - BIRTE BT #H = BHoO(f ® W E " =
EBHRERERE
= 1.00 300, 000. 00 300, 000
& Hi 1E%HeH - 1.00K 300, 000. 00 300, 000
T EE L
FHE—REMWE : TL

10




